
MOTOR : MOTOR DE ARRANQUE	
 

MOTOR DE ARRANQUE 

  

 

Rating: Not Rated Yet 
Price: 
Variant price modifier: 

Base price with tax: 

Price with discount: 

Salesprice with discount: 

Sales price: 

Sales price without tax: 

Discount: 

Tax amount: 

Ask a question about this product  

 

Description 

 

Ref. Título Código

1 SOPORTE MOTOR DE ARRANQUE 40-16A1528511

2 CADENA DE ARRANQUE 62T 40-15A1228410

3 GUIA CADENA DE ARRANQUE 40-15A1228420

4 TENSOR CADENA DE ARRANQUE 40-15A1228430

5 ENGRANAJE DE ARRANQUE 40-15A1228150

6 LAMINA LOCALIZADORA ENGRANAJE 40-15A1228171

7 TORNILLO M5 X 15 40-GB/T 5783

8 RETEN LH 18,9 X 30 X 5 40-15A1013190

9 RETEN 30 X 42 X 4,5 40-15A1228180

10 O-RING 107 X 2 40-15A1031915

11 ABRAZADERA 40-16A1534951

12 PRECINTO 40-16A1534952

13 MOTOR DE ARRANQUE 40-16A1534700

14 JUNTA MOTOR DE ARRANQUE 40-16A1534764

15 TORNILLO M6 X 40 40-GB/T16674

16 TORNILLO M6 X 40 40-GB/T16674

17 ARANDELA DE ALUMINIO 40-15A1028512

18 TORNILLO M6 X 40 40-GB/T16674

19 TORNILLO M6 X 40 40-GB/T16674

                        1 / 3

https://www.cprrepuestos.com.ar/images/stories/virtuemart/product/motor de arranque22.png


MOTOR : MOTOR DE ARRANQUE	
 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

                        2 / 3



MOTOR : MOTOR DE ARRANQUE	
 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

Powered by TCPDF (www.tcpdf.org)

                        3 / 3

http://www.tcpdf.org

